
 

 

COMPREHENSIVE PROJECT 

For 

   Financial Accounting Course / EPGP 2019-20 (Batch 12) / IIM Kozhikode 

Problem: 

You are launching into a business in the name and style of your choice. It has to be a manufacturing 

business. It means that your business would involve, buying materials, transforming it using plant and 

machinery, and selling it. 

My Business : I am  launching a business with name ‘IGS Productions’ which is a supplier of engineered 

equipments and systems for critical applications in the global chemical and pharmaceutical markets. Our 

products involve glass lined equipments , filtration and drying equipments , mixing systems , and 

engineered systems . Raw material includes glass , aluminum ore , iron ore which we buy from vendor 

‘SS works’. We have factory which span over 20 acres . Currently we have around some 150 employees 

working as workers , labourers , testers , transporters , equipment specialists, managers , accountant 

.We supply these equipments to all over India.  

 

Date of commencement of business : 1st August 1993 

 

Capital contributed : EPGP-1237892   : 1237892*250 = 309473000/- 

Long term loan(liability)  = max 1.5* capital  = 0.75*309473000 = 232104750 at the rate of 10% per 

annum. 

My transaction detail for 1st accounting period ( 1st Aug 1993 to 31st Mar 1994) 

 

 



 

 

Transactions Equations for CP Manufacturing for period 1 

 

Note : Workers and labourers have worked for around 6 months in first period(1st Oct to 31st Mar). 

 

 

 

 

 



 

 

 

 

Income Statement of CP Manufacturing for period 1 

 

 

 



 

 

Cash flow statement for period 1 

 

 

 

As per the cash flow statement for period 1 we can observe that major sources of cash inflow are credit 

sales received and revenue generated from selling equipments . While major uses are credit payments 

made and in refunding of the loans. Capex is 54157775 which is greater than depreciation that is 

5415777.5. Also net  cash inflow from operations is negative so it implies that company is on verge of 

getting bankrupt. When combined operations , investment and finance cash inflow so it has led to a 

positive figure which has in turn increased the ending cash balance . 

Period 2 starts from 1st April 1994 and ends at 31st March 1995 

 

 

 



 

 

Transactions Equations for CP Manufacturing for period 2 

 

 

 

 

 

 

 



 

 

 

 

Income Statement of CP Manufacturing for period 2 

 

 

 

 



 

 

Cash flow statement for period 2 

 

 

As per the cash flow statement of period 2 , major sources of cash inflow are credit sales received and 

revenue generated from sale of equipments. While major uses are credit payments made and loans 

refunded. Cash inflow from operations is greater than capex , depreciation and interest paid which is a 

good sign for the company. 

 

Period 3 starts 1st April 1995 to 31st March 96 

 
 



 

 

Transactions Equations for CP Manufacturing for period 3 

 

 

 

 

 

 

 



 

 

Income Statement of CP Manufacturing for period 3 

 

 

 

Cash flow statement for period 3 

 

 
 



 

 

As per the cash flow statement  of period 3 , we can observe that major sources of cash inflow  are 

credit sales received and revenue generated from selling of equipments. While major uses are credit 

payments made and loans being refunded. As we can see that cash inflow from operations is greater 

than capex , depreciation and interest paid so company is doing good in terms of profits. Also capex is 

greater than depreciation which is also a very positive sign for the firm. Net cash inflow has increased 

from operating , investing and financing activities that has increased the  ending cash balance in the 

firm. 

Financial analysis using common ratios for 3 periods. 

 

 

 

 

 

Gross profit margin as well as operating profit margin has decreased constantly from period 1 to period 

3. This implies sales have also reduced during these 3 consecutive years and the company is not 

producing much. Operating profit margin is reflection of the performance of the management. As 

operating profit margin is decreasing so it implies that management is not performing upto the mark. 

Profit before tax and net profit margin have increased constantly from period 1 to period 3. Net profit 

margin is the overall surplus available out of the sales and is the amount available to the shareholders. 

So increasing net profit margin implies happy shareholders. Operating profit to operating assets is 

increasing from period 1 to period 3 which implies that profitability in utilizing assets is increasing.Net 

income to total assets is also increasing from period 1 to period 3 which implies that shareholders are 



 

 

receiving higher amounts with each period and also rate of profit is also increasing. Return on equity is 

also increasing that means that amount available to shareholders for compensating their investments is 

increasing. Total asset turnover , operating asset turnover , working capital turnover have increased 

from period 1 to period 3 which implies that efficiency in asset utilization is also increasing .Shareholder 

equity turnover is also increasing over the periods that means management is efficiently utilizing the 

shareholder’s funds . Net working capital is constantly increasing from period 1 to period 3 which means 

liquidity of firm is increasing but at the same time it also implies the inefficient use of cash , over due 

receivables and unpaid borrowings and non investment in assets. Current ratio and quick ratio both are 

increasing over the years that means current assets as a ratio of current liabilities is also increasing.Total 

debt to total capital and long term debt to total capital both are decreasing over the periods so it implies 

that demand on the firm’s earnings for meeting fixed commitments have also decreased. Equity 

multiplier is decreasing over the years which means ability of owner’s equity to command resources is 

also decreasing. 

 

Costing aspects of the company 

 

 

 

 



 

 

 

As we can observe that cash is constantly increasing from period 1 to period 3 so liquidity of company is also 

increasing. But at the same time company is losing out on interest that it may have earned if it would have invested 

that cash as deposits in banks or as some other investment. Increasing cash and cash equvalents is also a reason for 

increase in current assets while non current assets have decreased. Total non current liabilities have reduced that 

implies loan payable has reduced so it’s a good sign for company as interest expenses would reduce and reduction in 

interest expenses is quite visible from income statement as well. Other equity has increased over the years that’s good 

sign for company as it indicates that sales have also increased that is quite visible from income statement. Also net 

profit has increased over the years as sales have increased which implies company is growing . Increase in net profit is 

one of the reasOn of an increase in other equity. 
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